

			Vendor	Ranking			Page 1 of 1
Letting:	08220308	March 08, 2022 02:30 PM	Call Order	: 003	Contract:	E8T70	
District:	Turnpike		Counties:	BROWARD, MIAMI-DADE	Fed Aid No	: N/A	
Contract Time:	410 CALEN	DAR DAYS		TURNPIKE	Project(s):	19077855229 (*)	
Contract Desc:	TREE RELO	OCATION - BROWARD & MIA	MI-DADE				

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	VISUALSCAPE INC.	Responsive	Winning bid	\$167,181.60	100.00% Intent to	to AWARD
2	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$216,200.00	129.32%	
3	TENUSA, INC.	Responsive	Non-Winning Bid	\$238,925.00	142.91%	
4	MANPOWER IRRIGATION & SERVICES, INC	Responsive	Non-Winning Bid	\$256,700.00	153.55%	
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$316,500.00	189.32%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: MARCH 22, 2022, 4:00 PM



			Tabulatio	n of Bids			Page 1 of 4
Letting:	08220308	March 08, 2022	Call Order:	003	Contract:	E8T70	
District:	Turnpike		Counties:	BROWARD, MIAMI-	Fed Aid No	b: N/A	
Contract Time:	410 CALENI	DAR DAYS		DADE, TURNPIKE	Project(s):	19077855229 (*)
Contract Descr	: TREE RELC	CATION - BROWARD &	MIAMI-DADE				

The work specified in this contract consists of providing all labor, materials, equipment, and all incidentals necessary to relocate palms and trees in accordance with the plans and the specifications. Relocate and maintain trees and palms at various sites along Sawgrass Expressway (SR 869) from Milepost (MP) 7.5 to 9.5 to the new location at the Homestead Extension of Florida's Turnpike (SR 821) from Milepost (MP) 39.0 to 40.0.

The post installation period is a period of one year from the date of final installation.

The removal and protection of palms and trees indicated in the plans are not included in this contract.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

The Contractor shall perform all work during day in accordance with the Turnpike Lane Closure Policy.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Landscaping. The Experience in Landscaping Form (850-070-09) must be filled out and submitted to be reviewed by the Department. If a Contractor is presently prequalified with the Department in landscaping, it is not necessary to submit the form.

	antity nits	(1) VISUALS	CAPE INC.	(2) SUPERIOR L & LAW		(3) TEN	JSA, INC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (MAINTI	ENANC	E SUPPORT SER	VICES (MH				
0005 0581 1 1 3 RELOCATE TREES AND PALMS, PALM, <14' OF CLEAR TRUNK	9.000 EA	750.00000	29,250.00	768.00000	29,952.00	790.50000	30,829.50
0010 0581 1 2 4 RELOCATE TREES AND PALMS, PALM, >=14' OF CLEAR TRUNK	6.000 EA	1,220.00000	56,120.00	1,580.00000	72,680.00	1,090.60000	50,167.60



			т	abulation of Bi	ds			Page 2 of 4
Letting:	08220308	March 08, 2022	Cal	l Order: 003		Contract:	E8T70	
Line No / Item Des		ite Quantity Units	(1) VISUALS	CAPE INC.	(2) SUPERIOR L & LAW		(3) TEN	USA, INC.
() indicate	s item is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
RELOCATE	1 1 3 TREES AND PALMS,N CLUSTERING	13.000 IULTI- EA	1,312.00000	17,056.00	1,960.00000	25,480.00	1,190.50000	15,476.50
RELOCATE	1 1 8 TREES AND PALMS, RUNK, SABAL PALM		711.60000	64,755.60	968.00000	88,088.00	1,565.40000	142,451.40
0001 MAIN	TENANCE SUPPORT SERVICES (MH)	Section Totals:		\$167,181.60		\$216,200.00		\$238,925.00

Contract Grand Totals:

\$167,181.60

\$216,200.00

238,925.00



			Т	abulation of Bio	ls			Page 3 of 4
Letting: 082203	308 Mare	ch 08, 2022	2 Cal	Order: 003		Contract:	E8T70	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) MANPOWER SERVICE		(5) MIDWI CONSTRUC			
() indicates item is bid as L	ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	1 (MA	INTENANC	E SUPPORT SER	VICES (MH				
0005 0581 1 1 RELOCATE TREES AND P <14' OF CLEAR TRUNK	ALMS, PALM,	39.000 EA	1,400.00000	54,600.00	1,750.00000	68,250.00		
0010 0581 1 2 RELOCATE TREES AND P >=14' OF CLEAR TRUNK	ALMS, PALM,	46.000 EA	1,200.00000	55,200.00	2,500.00000	115,000.00		
0015 0581 1 3 RELOCATE TREES AND P TRUNK OR CLUSTERING	ALMS,MULTI-	13.000 EA	800.00000	10,400.00	1,500.00000	19,500.00		
0020 0581 1 8 RELOCATE TREES AND P OF CLEAR TRUNK, SABAL		91.000 EA	1,500.00000	136,500.00	1,250.00000	113,750.00		
0001 MAINTENANCE SUF		on Totals:		\$256,700.00		\$316,500.00		

Contract Grand Totals:

\$256,700.00

\$316,500.00



			Tabulatio	n of Bids			Page 4 of 4
Letting:	08220308	March 08, 2022	Call Order:	003	Contract:	E8T70	
			e to file a protest wi prida Statutes, or fa	,	escribed in section bond or other security		
		required by la	w within the time al	lowed for filina a	a bond shall constitute		

a waiver of proceedings under chapter 120, Florida Statutes.